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writing the test booklet code. Candidate shall put his/her LTI
(Male) and RT1 (Female) on attendance sheet, on the OMR/
Afnswcr Sheet and on the Biometric Machine along with
signature, -

7. Candidate should put his/her signature and thumb impression | 4
on the Admit Card at two places in the presence of Invigilator i
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Examination is strictly prohibited. Candidature/OMR
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The hardest part of human body is
(A) bone (B) nail
(C) dentine (D) enamel

- X Dry ice is

(A) ice which never melts
(B) frozen heavy water
(C) solid carbon dioxide
(D) solid nitrogen

3. The image formed by a pin hole
camera is

(A) Real and Erect

(B) Virtual and Erect
(C) Real and Inverted
(D) Virtual and Inverted

4. Which of the following liquids has
the least density ?
(A) Fresh water
(B) Salt water
(C) Petrol
(D) Mercury

5. The material used in
manufacture of lead pencil is
(A) Graphite (B) Lead
(C) Carbon (D) Mica

6. The number of chambers in the
human heart is
(A) 2
C) 4

the

(B) 3
(D) 5

7. Alcoholic beverages are generally
made of

(A) Ethanoi
(C) Formic acid

(B) Acetic acid
(D) Methanol

8.  Plaster of Paris is made from
(A) Gypsum
(B) Bauxite
(C) Lime

(D) A kind of mmml available in
Paris.
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ENGLISH LANGUAGE Direction (Q. Nos. 14 & 15) : Choose the
alternative which best express the
9. We were brought up in a village and meaning of the given idiom/phrase :

my grandfather was a simple

and quite |Il|teratf (Fill in

- — 14. Wearandt
the blank) e

> «
(A) pheasant Q/Ipéaysi;-r:t/> G Eontaripy ,
(C) pleasant “(méa ﬁ damage caused by constant use -
(C) festive occasion
Direction (Q. Nos. 10 & 11) : Choose the (D) be leisurely

word that best expresses the meaning of

the underlined word.
ord 15. Not let the grass grow under one’s

10. He refused to kow-tow to the feet

government S W|shed on this issue.

" (A) toremain neutral

(A) be supportive ¥

e P

(C) unconcerned
(C) be defensive —_—
(D) be helpful A ‘@, waste no time in actmg )
11. It was a perilous journey across the Direction (Q. Nos. 16 & 17) : Find the
moungzgms wrongly spelt word :
K ersky \\ (B) thrilling
(C) deadly (D) tiring 16. (A) telepathy
o Al Tae oty
@Aantep_a’thy///
Direction (Q. Nos. 12 & 13) : Select the (C) sympathy
substitution that best expresses opposite @ apathy
meaning of the underlined word :
12. We have made tentative plans for a ,
holiday. 1 B Sl
(A) permanent definite > (C) detest QW'
(C) careful ‘elaborate o
18. Children below the age of 16 can be @
: vt L
13. Some democratic countries believe triedonlybythe _______ Court. (Fill '7;,.
in racial segregation. in the blank) e
(A) Subordination (B) Dommatzon x (A) Supreme B) High 3%
e % ) (—ﬂ\
(C) Inferiority < (D) lntegrataon )‘ (C) District D .!ELVS@“
7/2015 (13) 3 u‘ 17/ b ¥
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fe=t wran

19. ‘TS I facimmeds o= &
(A) 3
) s
(C) =g
(D) pleer

20. A dfFgid @ e
& o, w9 E T
wWels smefe
defE e

(B) 3T  STERIH
(C) o + e¥dH
(D) el + FEREH

23.  3TE AT H A B :

(A) ==
(B) uHE

(D) fawum

) {
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2. zmear wﬁm%

Y’ \_(Bf f O

(C) &=

(D) &

25. Fe dfeal § S 91 SEER R 2
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T 1 TSI SR <, T 1 FAHL I
(A)

(B) ¥&W
TS

(D) 9%

26. Frivfaa 4 | suw ed v S @
€7
W w&=
SR
(C) =rgw
(D) Fe=

@ g § 9 e
(A) mﬁmﬁuf

(B) < @iy
(C) T EY
(D) dfg §fy

28. *aétgifrwmuazm%ww%
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29.

30.

Which country will host 8™ BRICS
Summit in October 2016 ?

(A) Brazil (B) China

(C) Russia (D) India

In which state of India World’s first
‘White Tiger Safari’ has been opened ?
(A) Rajasthan

(B) Madhya Pradesh

(C)- Gujarat

(D) West Bengal

31. PM Modi launched “Stand up India
Scheme” in which of the following ?
(A) Varanasi (B) Kanpur
(C) Noida (D) Lucknow
32. Recently UIDAI touched the historic
landmark by producing 100" crore
Aadhaar. The first Aadhaar was
issued in which year ?
(A) 2011 (B) 2006
(C) 2009 (D) 2010
33. Whois the CEO of OLX ?
(A) Alec Oxenford
(B) Harinder Thakar
(C) leff Bezos
(D) Yong Zhang
34. Kaziranga National Park is situated in
* (A) North Sikkim
(B) Assam
{C) Rajasthan
(D). West Bengal
35. Famous song ‘Sare Jahan Se Achha’
was composed by
(A) Rabindranath Tagore
(B) Muhammad Igbal
(C) Manna Day
(D) Bankim Chandra Chatterjee
36. The National Institute of Community
Development is located at
(A) Chennai (B) Delhi
(C) Hyderabad (D) Chandigarh
7/2015 (13)
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37

38‘

39.

40.

41.

42.

43.

Which wildlife sanctuary is the
habitat of Asiatic Lions ?

(A) Gir Forest National Park

(B) Bondla Wildlife Sanctuary

(C) Karakoram Wildlife Sanctuary
(D) Periyar National Park

Panchayat Raj was first introduced in
India in 1959 in

(A) Rajasthan & Andhra Pradesh

(B) Tamil Nadu & Rajasthan

(C) Kerala & Andhra Pradesh

(D) Karnataka, Rajasthan
Andhra Pradesh

and

If a Panchayat is dissolved, elections
are to be held within

(A) 1 month (B) 3 months
(C) 6 months (D) 1vyear

World Environment Day is observed
on

(A) 8 March

(B) 10 July

(C) 5lJune

(D) None of these

In 1923 by whom Swaraj Party was

founded ?

(A) Motilal Nehru and C.R. Das

(B) Sachin Sanyal and Jogesh
Chatteriji :

(C) Gandhiji and Jawaharlal Nehru

(D) Abdul Ghaffar Khan and
Vithalbhai Patel

Diego Armando Maradona is a
famcus player associated with

(A) Football (B) Kabaddi

(C) Hockey (D) Golf

The term ‘Butterfly Stroke’ s
associated with .

(A) Kabaddi (B) Weightlifting
(C) Boxing (D) Swimming
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as. Which battle was fought between

45.

46.

47.

49.

50.

51.

E
i

.~ (A) Panchkula

Marathas and Ahmad Shah Abdali in
Haryana ?

(A) Third battle of Panipat

(B) Second battle of Panipat

(C) First battle of Panipat

(D) None of the above

Which district of Haryana has the
highest produce of Mustard ?

(A) Sonipat

(B) Faridabad

(C) Gurgaon

(D) Mahendragarh

In which city Kanod's fort is situated ?
(A) Mahendragarh (B) Narnaul
(C) Hansi (D) Thanesar

Which district of Haryana has the
lowest literacy ?

(A) Mahendragarh (B) Rewari

(C) Bhiwani (D) Mewat

How many districts were there in
Haryana at the time of its formation ?
(A) Seven (B) Ten
(C) Nine (D) Eight

In the Beijing Olympic, 2008, which

sports-person was the recipient of

Bronze medal in Boxing ?

(A) Pinky Jagda

(B) Gagan Narang -
(C) Dinesh Kumar

(D) Vijender Singh

Who built the Kose Minars (Towers) ?
(A) Sher Shah Suri

(B) Shahjahan

(C) Akbar

(D) Prithviraj Chauhan

Hill of Morni is situated in which

district ?
(B) Ambala

(C) Mahendragarh (D) Faridabad

7/2015 (13)

Scanned by CamScanner

Wmla’iamm‘q'maak——ﬁ%aﬁa

gfmwnﬁﬂqm 8T T4 91 ?
asra”fwgr:: )

() m“mwzaﬂ?
(C) UHIud T 98ell &
(D) I H § IS TEl
fcarom % Few foet & @l @1 waiES
Y
(A) GiHad
(B) WRTETE
” .
SN
46. mmﬁﬁwmwﬁﬁwﬁ%v
C i g > (B) A
&l (D) gH®ET

47. Wmmmmwﬁw
/#rm%”?

gt
O o e
48. M%m%mmﬁmﬁﬁﬁ&v

(M ®) =

(D) =@
49, ST e, 2008 # HEwawl A
fog faeel B Fig wwH e gr 2 -
(A) Tuept ST
(B) TH AR

C) fwr %7 -
50

HHART = fmtor e seamar o 2

(A) TG
e’

(B) VmESTEl
(C) STaT
(D) YRt e
51. A %! werdt frw s d ¢
@) teFm S (8) swar

(C) WETE (D) W



Se.

53.

54.

55.

56.

o7,

58.

59.

L

Sca

‘Heart Haryana’ situated in the midst
of Haryana is the city named

(A) lJind (B) Rohtak
(C) Sonipat (D) Karnal

The magazine ”Haryéna Samvad” is
related with the department of

(A) Agriculture -

(B) Information & Public relations
(C) Industry

(D) Sahitya Academy

Which mineral is found in the district
Mahendragarh ?

(A) Limestone
(C) Copper

(B) Calcite
(D) Above all

Which one of the following is not a
reserved Scheduled Caste
Constituency of State Legislative ?
(A) Pataudi (B) Jhajjar

(C) Bawal (D) Narnaul

Which town of Haryana is famous as
‘The City of Weavers’ ?

(A) Ambala (B) Panipat

(C) Karnal (D) Yamunanagar

The city Hisar was founded by
(A) Sher Shah Suri

(B) Akbar

(C) Muhammad Tughlaq

(D) Firoz Tughlaq

The famous film actor Sunil Dutt was
related with which district of Haryana ?
(A) Karna! (B) Jind .

(C) Panchkula (D) Yamunanagar

Who among the followings was not
Chief Minister of Haryana ?

(A) Bhagwat Dayal Sharma

(B) Rao Virendra Singh

(C) Banarasi Das Gupta  *
(D) G.D.Tapase
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60. Bhindawas Wildlife Sanctuary is
located in which district of Haryana ?
(A) Jhajjar (B) Rewari
(C) Gurgaon (D) Faridabad

61. Main flowing river in Faridabad
district of Haryana is
(A) Saraswati
(C) Yamuna

(B) Sahibi
(D) Markanda

62. The first Akashvani Centre was
established in Haryana at
(A) Rohtak (B) Kurukshetra
(C) Hisar (D) Gurgaon

63. Central Institute for Research on
Buffaloes (CIRB) is in
(A) Rohtak
(C) Hisar

(B) Karnal
(D) None of these

64. In which of the following district
Gurudwara Neem Sahib is situated ?
(A) Panipat
(B) Kaithal
(C) Rohtak
(D) None of these

65. Pandu Pindara holy place is nearby
which town of Haryana ?
(A) Jind (B) Kurukshetra
(C) Pehwa (D) Kaithal \

66. Palwal gets the status of district in :

the year
(A) 2006 (B) 2007
(C) 2008 (D) 2005

67. Saina Mehwal is associated with
which sport ?
(A) Shooting
(C) Badminton

(B) Wrestling
(D) Hockey

68. Le Corbusier, the architect of
Chandigarh was belongs to which

country ? ‘

(A) Germany (B) France

(C) Italy (D) Spain
7/2015 (13)
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69.

70.

71,

77 A

73.

74.

- ——— e

As per a recent survey by UBS, the
population of was the
largest adopters of mobile banking.
(A) Japan (B) China

{€) US.A. (D) Finland

When there is a vacancy in the office
of the President and the Vice
President at the same time, the
office is held temporarily by

(A) a person nominated by both the
Houses of Parliament

the Speaker of Lok Sabha

the Deputy Chairman of Rajya
Sabha

the Chief Justice of India

(B)
(€

(D)

Net National Product of a country is_
GDP

(A) minus depreciation
allowances '

(B) GDP plus net income from
abroad

(C) GNP minus net income from
abroad .

(D) GNP minus depreciation
allowances

Vasco da Gama discovered sea route
to

(A) N. America
(C) India

(B) S.America
(D) Australia

“Economics is what it ought to be” -
This statement refers to

(A) Normative economics

(B) Positive economics

(C) Monetary economics

(D) Fiscal economics

Which bank bagged the prestigious
‘Bank of the Year’ award 2015 in U.K. ?
(A) 1CICI Bank

(B) HDFC Bank

(C) Yes Bank

(D) Indusind Bank
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75. The Constitution of India came into 75. W a Ay ey g o
force on pCH ;
(A) 26 January, 1950 . [M/EG . 42R0 ::j
(B) 26 January, 1952 (B) 26 STadl, 1952
(C) 15 August, 1948 (C) 15 3T, 1948 &l
(D) 26 November, 1949 (D) 26 efaiT, 1949 H
76. Namdhapa National Park is in 76. ARG AL T &
(A) Mizoram (A) fositen o
(B) Manipur (8) wﬁ
(C) Tripura (© ﬁwq
A
(D) Arunachal Pradesh \LD’)/ Ry # 5
77. The Lodi dynasty was founded by 77. @GS 991 sl EGAT %{ﬁ @t ot 2
(A) Ibrahim Lodi ! (A) ZafeT ey
(B) Sikandar Lodi (B) ﬁ’ﬁﬁfﬂ'ﬁﬁﬁ
(C) Bahlol Lodi 6) > i;ﬁa"r ~
(D) Khizr Khan
: (D) faw @@=
718. The excess of price a person is to pay 78.) <a Ao @1 ekt @k &l Bigd & a1g
rather than forego the consumption 3% feir 31iaes Had ST ST TSl €
of the commodity is called o 38 T T AT 8 2
(A) Price . (A) S
(B) Profit (B) @M
(C) Producers’ surplus i@m ats O
(D) None of these ' (D) Fﬁﬁﬂ?%- - el
'9. Select the one which is different 79. 39 fodhed %1 997 Hifore st 3= dFl o
from the other three responses. =7
(A) HGDC (B) XWTS (A) HGDC (B) XWTS
(C) BAZY (D) POLK —[C)BAZY (D) POLK
0. Which of the following, given in 80. frafefEa ® &/, st srexafega wv # fu &,
jumbled form, is not a boy’s name ? I G U cigeh o1 A9 81 ¢ ?
(A) INVIHAS (8) ALOGP (A) INVIHAS (B) ALOGP
(C) HEHSMA (D) LMVIM,1 (C) HEHSMA (D) LMVAI
1. Choose the correct alternative from 81. ) few nu fawedi & | o wE fawew gfg ’{(
the given ones that will complete the Sl 3TN B Y 5\ \1:
series. ' e B et
’ 1 ’ ?p 8: S /
8, 24,12, 7,18, 54 Py \ ’3«;4.,-3- 1W o
(A) 28 B) 36 _, 192 (A) 28 A% B
(0 38 (D) 46 (C) 133 ks i COUSN L gl o
r &3 b AT G N B ¢
5(13) LS T g e TR »
;Fm 95(0é;¢"’)ﬂ,“\~5¢<,z,% '*’;“
4 wl A YEEA KA R




82.

83.

84.

85.

86.

87.

f

Lvallllcu vy calrrovaririci

Sanmitra walks towards north
4 km, turns right and walks 5 km.
Then he turns towards south and
walks 2 km. Again he takes a turn
towards west walks 3 km and stops
for a while. Then he further walks 2
km. What is the distance of Sanmitra
from starting point ?

(A) 16 km (B) 2 km

(C) 4km (D) 3 km

Select the related word from the
given alternatives.

TIME : MITE : : MATE : ?

(A) TEAM (B) META

(C) TAME (D) MEAT

Select the one which is different
from the other three responses.
(A) BATVW (B) EFGNM
(C) YXSUV (D) SRPNO

Choose the correct alternative from
the given ones that will complete the
series.

464, 232,116,58,?
(A) 4

(C) 116

(B) 29
(D) 232

Arrange the following words according
to dictionary order : X

1. Collect 2. Collinear

3. Collection 4, Column

5. Collapse

(A) 5,1,3,2,4 (B) 5,1,2,3,4
(D) 5,1,2,4,3

(C). 'S5, E4,8,2

From the given alternative words,
select the word which cannot be
formed using the letters of the given

word.

PRONUNCIATION &1
(A) RATION (B) PRONOUN
(C) PRINT (D) NATURAL

12

63/

Al Sl Y il |
& | 'y
+y /N
4 sirr 4 T Y, Ter a1l
£
gt & fo ol e b | fur ar Tl
aeen 1 T HR
afyert o) it et 3 1 fy v },' s
e ¢ @ forg vl b an il';,’: 7 mm
sfre weren & 1 sirifvra vt A s ferd
qee . S p
(A) 16 fa i, /( 4By 2 fos 1Y, 7
(C) A fmieh (D) 3 f Al

Ve et frewen &

e sy 2 ol

fica) 172} et o 9 speafourer vt i1 |
TIME : MITE : : MATE 1./

(A) TEAM (B) META
© () TAm (D) MEAT
ga, 3 faewed wi au g ot s A A

fir= %t | AT T

(A) BATVW /" (B) EFGNM

(C) ’Y‘)SS;LJJY (D) SRPNO
(88, fa o fesent i 4t aw ot Frmwt oy
G s g |

464, 232, 13.6,’5& % A,

(A) 4 B 29

(C) 116 (D) 232

86.

&

87.

frefefaa st #t vese & w0 o
afeaa Hifa .

1. Collect 2. Collinear
3. Collection 4, Column
5. CLollgpse -

~(A).5,1,3,2,4 5(B) 5,1,2,3,4

© 51432 (D) 51,243

fretferfiaer fasedt & @ ax wer gfqo o
feq g v & sl w1 owam wE
AT T ekl

PRONUNCIATION
(A) RATION (B) PRONOUN

(C) PRINT . — @ NATURAL —
7/2015 (13)
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A man is four times as old as his son.
Twenty years later he will be just
twice as old as his son. Find their

present ages.

(A) 40-10 years
(B) 30-10 years
(C) 80-20years
(D) 30-20 years

88.

89. 1.086-0.3983-0.669 =7
(A) 0.6208 (B) 1.3948
(C) 0.0048 (D) 0.0187

A library has an average number of
510 visitors on Sunday and 240 on
| other days. The average number of
; visitors per day in a month of 30
| days beginning with Sunday is :

| (A) 300

| (B) 290

(C) 285

(D) None of these

The sum of all odd numbers
between 100 and 200 is :

(A) 6200 (B) 6500

(C) 7500 (D) 3750

94.

wd

Himanshu does half as much work as
Yogesh in three-fourth of the time. If
together they take 18 days to
complete the work, how much time
shall Yogesh take to do it?

(A) 30days (B) 35 days

(C) 40 days (D) None of these

82,

Two stations A and B are 110 km
apart on a straight line. One train
starts from A at 7 a.m. and travels
towards B at 20 kmph. Another train
starts from B at 8 a.m. and travels
onwards A at a speed of 25 kmph. At
what time will they meet ?

93.

(A) 9a.m. (B) 10a.m. .
(C) 11am, (D) 10.30 a.m,
4 1€
rmmm’? ,1_-",9“74”,, 5
| A

“Scanned by CamScanner

gg., U aifdd @ ag A0 LA w Ty o
7 dv ol W I sy A 42 9 wa

et gl o ) A o A | A?
< (a) 4010 > ’ ‘Y/ v
(B) 30-10 @ PR Y
(C) 80-20 7 gl & ,\/.?{»
(D) 30-20 @
1,086 - 0,3983 ~ 0.669 = ?

(A) 0.6208 (B) 1.3942
(C) 0.0048 (D} 00187 /

89.

90. w e i Haan & fra HE A Yy,
¥ e w510 a9 A4 feAt 1 240 ) /Y
¥ | ffgaw @ s @A A w30 o\
Feii 3 e Wi T v At # ama O
T T ? "%}
(A) 300 o °

(B) 290 :
TN VLD o

(D) 8 & g TE

(A) 6200
@)
02. fewiy et wE # ama ww Hw

TSt anter 3/4 @y o Fwen & 1 afz

Tt vsEry faeet & ot #9918

fe Tt &, it e gm HRE @ g H

e fa ammo 2
%ﬁ"' (8) asf=m )
C) 40 fm— @‘/,nﬁjgsﬁ#ﬂ,_‘}mw

T WA A T B |t @ wr 110 :
BQRE 1THA AR 7 am &
IO Te &, 3 B W 3 20
% TR @ werdl & (gEdt 2 B W 8
a.m. ® 3 wLet 8, 3 A #1325
faredt . &t Toar @ agelt & 1 2t few
a9y vy foerd ?

(A) 9am. (B) 10a.m.

~(¢;,31 am. 5 (D) 10.30a.m.

\\}’\0 —‘.—3"'

(B) 6500
(D) 3750
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93,
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94. 25/0.005=7

(A) 500 @31,.59@@
(C) 2500 (D) 0.50

95. A man covers a distance from a town
A to a town B on scooter at 30 kmph
and rides back from B to A at 20
kmph. His average speed is

< (A)_24kmph—,
(B) 30 kmph
(C) 18 kmph

(D) None of these

96. Five numbers in geometric
progression are such that their

product is 32. Find the third number.

(A) 4
(€)2

(B) 1/2
(D) 8

97. Twelve men can complete a work in
8 days. Three days after they started
the work, 3 more men joined. In how
many days will all of them together
complete the remaining work ?

(A) 2 (B) 4
{C)..5 (D) 6

98. Which of the following fractions is

L AR T WP I
\Uh_oo‘sll’l’/b;of;"llﬂ/‘; )’Jf()‘ (z // (
s D 7 ‘ 4
94, 25/0.005 = ? s
- (A) 500 ( (B)/ 5000 o
(C) 2500 (D) 0.50

o5, U A A WET A B WET bl T T A
Fart &L 30 kmph I 9161 | 99 H @
o aTaE B A A 20 kmph %1 =6l # el

o6. 5 W Ui Hvi A W W@ & fR
S UFE 32 3T € | T e

T HIT | P>

2 >

(D) 8

97. 12 el Uk FE H 8 A W W
TFS E | T B AR FH F 3 T
a7 3 3R IEH HF H wWHA gT | 9y
14 7 o et foe foal | qu e ?
(A) 2 e @¥a
(C) 5 (D) 6

.

2,35, 1
98. ﬁnﬁﬁﬁwmﬁ:gﬁmwﬁ

7 i
less than 3 and greater than 'g? ST A WA 8 ? U\
: 1 23
1 23 = 23
1k
s .74 © 35 T
(C) 12 (D) 24 - 12 3 54;/ Y
99. Which one of the following metals 99. frafefgs o U 9T & 99
does not react with water to iR FXeh R Seo=t et st
produce Hydrogen ? (A) ureferm ~ o
(A) Potassium (B) Cadmium T o g a0
(C} Sodium (D) Lithium ) . (0) .
100, Frc?m which of the following trees 100. Fferfas o ¥ &4 ¥ Uy 9§ 3’»‘3’-1 e
quinine is obtained ? EIRSIGIE ) 4
(A) Eucalyptus ' ‘
(A) Fforey
(B) Rauwolfia serpentina (B) Uaiffewrar wtferean
(€ Walnut :
(D) Cinchona e
c
\ 14 7/2015 (13)
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